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Name: ______________________________________     Date: _________
Score: _______

MATHEMATICS TEST

8 Minutes—8 Questions

DIRECTIONS: Solve each problem, choose the correct
         but some of the problems may best be done without

answer, and then fill in the corresponding oval on your
         using a calculator.

answer document.




         








         Note:Unless otherwise stated, all of the following should

Do not linger over problems that take too much time.    
         be assumed.

Solve as many as you can; then return to the others in

the time you have left for this test.


         1. Illustrative figures are NOT necessarily drawn to scale.







         2. Geometric figures lie in a plane.

You are permitted to use a calculator on this test. You
         3. The word line indicates a straight line.

may use your calculator for any problems you choose,  
         4. The word average indicates arithmetic mean.

	Pre-Algebra 23% ~ about 14 out of 60
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	2.  A photographic negative measures 
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 inches. If the longer side of the printed picture is to be 4 inches, what will be the length of the shorter side

of the printed picture?
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	Elementary Algebra 17% ~ about 10 out of 60
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	Intermediate Algebra 15% ~ about 9 out of 60



	[image: image27.emf]4.  In the complex plane, the horizontal axis is called the real axis and the vertical axis is called the imaginary axis. The complex number a bi graphed in the complex plane is comparable to the point (a,b) graphed in the standard (x,y) coordinate plane. The modulus of the complex number a bi is given by 
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.  Which of the complex numbers z1, z2, z3, z4, and z5 below has the greatest modulus?

F. z1

G. z2

H. z3

J. z4

K. z5


	Coordinate Geometry  15% ~ about 9 out of 60



	[image: image28.emf]5.  In the figure below, line q in the standard (x,y) coordinate plane has equation 2x y = 1 and intersects line r, which is distinct from line q, at a point on the x-axis. The angles, ∠
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a and ∠
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b, formed by these lines and the x-axis are congruent. What is the slope of line r ?

F. 2

G. 
[image: image21.wmf]-

1

2


H.  
[image: image22.wmf]1

2


J. 2

K. Cannot be determined from the given information


	Plane Geometry 23% ~ about 14 out of 60

	[image: image29.emf]Use the following information to answer questions 54 – 56.

The radio signal from the transmitter site of radio station WGGW can

 be received only within a radius of 52 miles in all directions from the

 transmitter site. A map of the region of coverage of the radio signal is 

shown below in the standard (x,y) coordinate plane, with the transmitter 

site at the origin and 1 coordinate unit representing 1 mile.



	6.  Which of the following is closest to the area, in square

miles, of the region of coverage of the radio signal?

F. 2,120

G. 2,700

H. 4,250

J. 8,500

K. 16,990


	7.  Which of the following is an equation of the circle shown on the map?

A. x y = 52

B. 
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	8.  The transmitter site of radio station WGGW and the transmitter site of another radio station, WGWB, are on the same highway 100 miles apart. The radio signal from the transmitter site of WGWB can be received only within a radius of 60 miles in all directions from the WGWB transmitter site. For how many miles along the highway can the radio signals of both stations be received?  (Note: Assume the highway is straight.)
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